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 Interactive Question O
The radius of plant Sooner is identical to that of Earth, yet
the mass is twice that of Earth. Your weight on Sooner,
compared to your weight on Earth, 1s

A) quartered.
B) halved.

C) the same.
D) doubled.
E) quadrupled.




Interactive Oc@mﬁo: _ | g

The radius of plant Boomer is twice that of mmnw yet the
two planets have identical masses. Your weight on
Boomer, compared to your weight on Earth, 1s

A) quartered.

B) halved.

C) the same.

D) doubled.
E) quadrupled.




Interactive Question @

If an artificial satellite is orbiting about the Earth, between
the Earth and the moon, how does its period of rotation
compare to the moon’s period?

A) It is greater.

B) It 1s the same.

C) It 1s less.

D) We don’t have enough information because it depends
on the satellite’s speed

'E) We don’t have enough information because i1t depends

pJ

on the satellite’s mass



Interactive Question o Q

Consider this statement: The Sun exerts a greater gravitational
force on the Earth than the moon does, yet the moon 1s
primarily responsible for the tides.

Is this true or not true, and why?

A) It’s not true. The moon is closer, so the gravitational force
it exerts is stronger than the Sun’ s.
B) It’s not true. The Sun mog 98“4 a uH.? ter gravitational

C) It’s not true. Tides are created J\ ro the Sun and the
Moon only when the %Q\ : e up correctly.

D) It is true. The variation of the nES&So@ force on the
different sides of the Earth from the Moon is greater than
the variation on the different sides o,m the Earth from the
Sun because the Moon is closer to the Earth than the Sun.




